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The figures in the margin indicate full marks
Jor the questions

1. Choose the correct answer of the following :
1x6=6
(a) EVM stands for

(i) Electric Vending Machine
(ii) Electronic Voting Machine
(iii) Electronic Vending Machine
(iv) Electric Voting Machine
(b) Which of the following is the founder of
the Communist Party of India?
(i) Jayaprakash Narayan
(i) Dr. B. R. Ambedkar
(iii) M. N. Roy
(iv) Sitaram Yechury
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(c) State Reorganization Commission was
constituted in the year of

(i) 1957
(i) 1955
(i) 1965
(iv) 1656

(d) Choose the correct answer from the
following :
(i) Election Commission is a
Constitutional Body

(i) Election Commission is a Statutory
Body

(iii) Election Commission is an
Independent Body

(iv) Election Commission is a
Permanent Body

(¢) Full form of MGNREGA is

() Mahatma Gandhi National Rural
Employment Guaranteed Act

(i) Mahatma Gandhi National Rural
Employee Guarantee Act

(i) Mahatma Gandhi National Rural
Employment Guarantee Act

(iv) Mahatma Gandhi Natural Rural
Employment Guarantee Act
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( In which year India introduced New
Economic Policy?

(i) 1990
(i) 1991
(iii) 1995
(iv) 1998

2. Answer the following questions : 2x5=10

(a) Write two features of Indian Party
System.

() Explain any two determinants of voting
behaviour in India.

(c) Explain two factors responsible for the
growth of regionalism in India.

(d) Write any two differences between sex
and gender.

(e) Explain two features of developmental
State.

3. Write short notes on any six of the following :

5x6=30
() Caste and Indian Politics
(b) Defection in Indian Politics
() Gender perspective of Politics
(d) Right to Education Act, 2009
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(e) Measures to remove regional
imbalances in India

() Factors responsible for the growth of
Communalism

(@) Characteristics of Caste System
(h) MGNREGA
(i Dalit Movements

4. Answer any two of the following questions :
10x2=20

(@) What do you mean by Caste? “Caste
System is very much inherent in
politics.” Justify the statement. 3+7=10

(b) What is Welfare State? Is India a

Welfare State? Discuss. 3+7=10

(c) Explain the issue of low level of women’s
participation in Indian Politics. 10
5. Answer any one of the following questions : 14

(a) Discuss the recent trends in Indian
Party System.

(bp) Discuss the role of claés, caste, gender
and religion as the determinants of
power structure in India.
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